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g AA 18R Bk 18R ik 1B | MR | A
JE\ERH] 439 -2 197 -1 242 -1 194 1
ELH] 228 0 100 0 128 0 92 1
E=H] 162 2 72 0 90 2 71 0
KEH] 49 0 13 0 36 0 27 0
WNEL] 9 0 2 0 7 0 4 0
] 89 0 38 0 51 0 22 0
Eayestil] 65 0 12 0 53 0 15 0
P L ] 523 -2 252 -3 271 1 294 -1
FEH] 32 -1 18 -1 14 0 15 -1
1 H] 223 -1 96 -1 127 0 87 0
= =[] 81 0 38 0 43 0 35 0
] 236 0 110 0 126 0 110 0
ZH] 137 1 61 1 76 0 67 1
& SHT 536 275 2 261 0 251 2
FFrH] 77 -2 39 -2 38 0 38 -1
1GRaH] 19 0 11 0 8 0 7 0
FASEH] 144 5 65 2 79 3 81 2
—&T 0 0 0 0 0 0 0 0
NET 106 1 51 2 55 -1 48 0
T&ET 150 -1 73 0 77 -1 53 -1
N&ET 81 0 37 0 44 0 35 0
NET 260 1 108 1 152 0 91 1
T&ET 246 1 111 0 135 1 120 1
1ok ] 378 -1 162 -1 216 0 192 0
SiEH] 2,604 16 1,249 5( 1,355 11} 1,009 12
RFRE] 3,540 1] 1,646 1 1,894 0| 1,340 -3
] 1,447 -6 695 -3 752 -3 473 1
B a)=<tiil) 1,823 2 906 3 917 -1 713 0
FrERHE] 527 -2 240 -1 287 -1 225 -1
FHATHT 3,490 3] 1,768 1 1,722 2| 1,499 8
LLAEHT 2,209 1 1,091 -2 1,118 3 861 5




VEIRH] 1,933 -2 975 -1 958 -1 494 -4
Ll e 4,873 10 2,375 7| 2,498 3| 1,737 5
JFEET R 2,084 9] 1,035 41 1,049 5 774 3
EBZRHE] 9,248 -19] 4,512 -11| 4,736 -8 3,326 -5
=2kH] 3,502 12| 1,702 5 1,800 7| 1,286 1
[ EHET 921 4 456 1 465 3 364 4
EREFHIER — 2,417 -5| 1,146 o 1,271 -5 786 -2
EREFHTERS) 1,787 11 865 8 922 3 609 7
EREFHT PG 7> 539 -1 267 -3 272 2 194 0
Er7KH] 5,631 -1 2,682 1] 2,949 -2| 1,813 -3
g lii) 123 15 113 15 10 0 110 15
ERH] 54 0 28 -1 26 1 33 0
ETRE—TH 442 6 229 1 213 5 191 3
ETREIZTH 310 0 134 0 176 0 143 2
ETREI=TH 1 1 1 1 0 0 1 1
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 251 3 116 1 135 2 76 1
rES 0 0 0 0 0 0 0 0
TEE—TH 462 5 202 1 260 4 207 3
TEEZTH 756 -3 350 -2 406 -1 348 -3
TEE=TH 318 0 149 -1 169 1 145 -1
ERE—TH 501 -3 226 0 275 -3 227 -3
RERE—TH 769 0 385 0 384 0 342 2
EE=TH 475 -7 240 -3 235 -4 219 -4
EMPRET—T B 341 0 147 0 194 0 151 0
Gl = 557 -9 264 -4 293 -5 245 -5
JtFEILE—TH 182 -2 76 -1 106 -1 82 -1
JtFEILETZTH 435 -6 195 -4 240 -2 185 -2
A —TH 343 -2 179 -1 164 -1 148 -2
AR —TH 491 -3 244 1 247 -4 235 -1
FEH—TH 129 0 56 0 73 0 55 0
FZHZTH 321 3 135 1 186 2 141 1
[REEIH 342 -8 163 -2 179 -6 204 -3
wFEE—TH 142 0 71 1 71 -1 68 0
RFEE =T H 304 -2 122 -2 182 0 126 -1
RAEI—TH 471 4 212 2 259 2 175 0
FREIZTH 323 2 144 1 179 1 136 -1
RREI=TH 482 -6 226 -5 256 -1 226 0
FRAFETI T H 365 -1 166 -2 199 1 151 1
FRETRTH 609 -3 264 -1 345 -2 227 -1
FuRE—TH 238 0 120 0 118 0 111 0
FUEEI”TH 381 0 209 1 172 -1 194 1
HIIEEE—TH 489 -4 225 -2 264 -2 228 -2




HIGEAI”TH 334 0 152 0 182 0 132 1
BRE—TH 146 -3 65 -1 81 -2 73 -1
BRI "TH 687 -7 314 -2 373 -5 297 -2
BRE=TH 579 -1 278 0 301 -1 235 2
BEEMTH 245 -2 113 -1 132 -1 99 -1
EEEATH 727 -3 330 -1 397 -2 336 0
Kt —TH 288 0 138 -1 150 1 110 1
XK —TH 226 2 112 0 114 2 90 2
AFH—TH 134 0 58 0 76 0 62 0
AFHZTH 8 0 4 0 4 0 5 0
AFH=TH 154 9 76 0 78 9 84 8
TEEIA—TH 600 4 286 3 314 1 215 2
TEsETFE T H 274 -1 133 0 141 -1 101 0
TEEAR=TH 122 0 65 0 57 0 55 -2
TEEIFEM T B 470 7 227 4 243 3 178 4
TEEAATH 695 -11 336 -4 359 -7 257 -3
TEEIPRNT B 413 8 192 4 221 4 167 4
TEsETFEE T H 593 1 286 -3 307 4 268 2
TEEIFEA\TH 646 -7 317 -4 329 -3 263 2
TERER—TH 1,350 -2 653 -1 697 -1 565 0
THREERTTH 399 7 191 2 208 5 157 1
TEREIR=TH 740 1 367 0 373 1 306 -1
TEREIERIUT B 1,124 -2 544 -3 580 1 438 -1
TAHREERATH 1,178 -4 707 -5 471 1 645 -4
T2REERANT B 665 4 360 3 305 1 332 1
TEZRERETH 1,409 4 680 1 729 3 557 2
TERETERNTH 1,368 0 652 1 716 -1 601 0
TEREIRAT B 558 -1 282 -2 276 1 114 -1
TEEIE—TH 69 0 41 0 28 0 51 0
TEEIEZTH 37 -4 24 -3 13 -1 32 -2
4N st 80,490 15| 38,925 -4 41,565 19| 31,407 47
AEH]E 154 0 62 0 92 0 82 0
AEHTA 131 -1 65 0 66 -1 68 0
AEHTRE 14 0 4 0 10 0 10 0
AREHT/NBR 140 0 62 0 78 0 65 0
AEHKH 15 0 5 0 10 0 11 0
AEHTEH 84 -1 31 -1 53 0 41 0
AEH R 14 0 7 0 7 0 7 0
AEHE /R 10 0 3 0 7 0 7 0
45 17 0 8 0 9 0 11 0
AEMXEEST 579 -2 247 =l 332 =l 302 0
IN= 1 AVES] 40 0 21 0 19 0 26 0
IN= 1RO 51 -1 24 0 27 -1 32 -1




IN= I E0) 42 0 19 0 23 0 25 0
[1: SHTER S 43 -2 22 -1 21 -1 28 -1
[LERTEAR 75 0 36 0 39 0 43 0
[LSHETHH 36 0 15 0 21 0 18 0
NG9 39 0 23 0 16 0 18 0
[LEE/NFS 51 0 29 0 22 0 25 0
FEH] 51 0 26 0 25 0 35 0
[ S EEET 428 -3 215 -1 213 -2 250 -2
SUEERSET 1,007 -5 462 -2 545 -3 552 -2
e X T ] 1,434 -5 673 -2 761 -3 491 -3
T2 X T ] EH 780 -3 332 -2 448 -1 247 -1
&R R 1,292 -5 619 -3 673 -2 425 -1
e 2K T iz E P 1,130 0 548 0 582 0 366 0
e 1,469 -2 687 -1 782 -1 446 1
e 1,164 3 556 1 608 2 407 -1
TN ] = AR 3,978 3| 1,906 3| 2,072 0| 1,289 2
TR X ERET 11,247 -9] 5,321 -4 5,926 -5 3,671 -3
ERILIET_ESREESF 2,002 -1 944 -2| 1,058 1 614 0
ERILIE] RSB 2,638 14 1,299 11 1,339 3 847 4
ERILIETER/)N I 2,121 10 1,058 -4 1,063 -6 776 0
BRI BT PaR T 1,509 -6 744 -5 765 -1 499 -3
BRI LI BT iF 1,034 6 493 4 541 2 348 1
ERLLIET) 1R 2,311 -2 1,133 -3 1,178 1 781 2
ERILIE] R T 5,861 -7 2,827 -1 3,034 -6 2,098 1
BRI [X &R 5T 17,476 -6| 8,498 0f 8,978 -6| 5,963 5
a 5t 110,220 -5| 53,206 -10| 57,014 5 41,593 47




